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VZLETOVA A PRISTAVACi DRAHA (RWY)
se oznacuje dvojici Cisel od 01 do 36
podle sméru, ve kterém byla postavena.

Magneticky smér, napfiklad 243 ° se vydéli
deseti, tedy 24,3, a zaokrouhli. Draha proto
dostane oznaceni 24.

Na sméroveé razici existuji sméry od 1 ° do
360 °, a nejvyssi mozné oznaceni drahy
je proto 36.

Pokud létate castéji anebo bydlite blizko
letiSté, mozZna jste si povSimli, Ze na téze
draze se nékdy léta v opacném sméru.

Protismeér je od hlavniho sméru otoceny
vzdy o 180 °. Napriklad draha ve sméru zapad,
tedy 240 ° s oznacenim 24 ma v opacném
vychodnim sméru o 180 ° méng, tedy 060 °,
a oznaceni proto zni 06.
PROC LETADLA PRISTAVAJi PROTI VETRU?
Letadlo udrZuje stabilni rychlost vici vzduchu. Pokud fouka vitr,
je rychlost letadla v(ci vzduchu jind nez vici draze. Fouka-li vitr zepfedu,
je rychlost letadla vici drdze mensi pravé o rychlost vétru a obracené.
Boeing 737 a Airbus 320, nejcastéjsi letadla v Praze, pristavaji rychlosti
okolo 200 kilometrd za hodinu. Pokud fouka protivitr 30 km/h, vici draze
. oy v - ~jerychlost letadla pouze 170 km/h. Kdyby letadlo pfistavalo na opacny smér

Eggguse - drazve pi€ naprlklvad vlno.vmach, ~ RWY, mélo by zadni vitr 30 km/h a dosedalo by rychlosti vici draze 230 km/h.

je se obéma Cisly oddéelenymi e o > > - DR o
lomitkem, tedy 06/24. ProtoZe rozdil Eisel Pri protivetru tedy letadlo doseda na drahu pomaleji, potrebuje i kratsi

musi byt vidy roven 18, existuje osmndct vzdéle‘nost k zabrzdéni a pfistani je bezpecnéjsi.
moznych kombinaci, oznateni RWY, tedy PROC SE LETA JEDNOU TAK :
01/19, 02/20 az 18/36. A PODRUHE TAK?

Dlvodem je nejcastéji vitr. Smér vzletu

a pfistani urtuje Rizeni letového provozu tak, PRO(‘f LETADLA VZLETAJi PROTI VETRU?
aby letadla vzl€etala a pristavala proti vetru. Aby letadlo vzlétlo, musi dosdhnout patfitnou rychlost vici vzduchu,
VEDELI JSTE, ZE... v auté je nebezpetné jet - r:ja5|rc1h civour‘:lypu ZT?.V;' 9k0|2 ZO(r)“km/rJ. :Jeirl]e 7Ll plgtl, E? Eycvhllos,t -

letét prilig pomalu? Aby se letadlo udrzelo staci se rozjet po draze rychlosti snizenou o rychlost vétru. Letadlo vzlétne
ve vzduchu potfeﬁuje vztlakovou silu <& na kratSi vzdalenosti neZ pfi vétru do zad. Cim kratSi vzdalenost pro rozjezd

kterou mu dava jeho rychlost viii letadlo potrebwe, tim be‘zp‘g“cnem je vzlet.
vzdusnému proudéni. ~ :

Lo Letiste
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RUNWAYS

Runways are designated using pairs of
numbers from 01 to 36 according to the
direction in which they were built.

The magnetic direction, for example 243 °,
is divided by ten, i.e. 24.3 and rounded off.
The runway is therefore designhated as 24.

Directional orientations are indicated from
1 ° to 360 ° and the highest possible
designation of a runway is therefore 36.

If you fly frequently or live near the
airport, you may have noticed that
airplanes sometimes land and take off
in the opposite direction than you are
used to on the very same runway.

The opposite direction is always rotated by
180 ° from the main direction. For example
a runway directed to the west, i.e. 240 °
with a designation of 24 is 180 ° less in
the opposite direction to the east, i.e. 060
and therefore is designated as 06.

o WHY DO AIRPLANES LAND AGAINST THE WIND?

\ An airplane maintains a steady speed in relation to the air. If a wind is blowing,
the speed of an airplane is different to the air than it is to the runway. If the

wind is blowing from the front, the speed of an airplane to the runway

is smaller by the speed of the wind and vice versa. The Boeing 737 and Airbus

320 are the most common airplanes in Prague, landing at speeds of about 200

kilometers per hour. If a headwind is blowing at 30 km/h, the speed of the

airplane in relation to the runway is only 170 km/h. If an airplane landed on

When newspapers write about a runway, a runway in the opposite direction, it would have a tailwind of 30 km/h

itis referred to by using two numbers and land at a speed of 230 km/h. Airplanes land more slowly when facing

separated by a slash, i.e. 06/24. Since the - aheadwind and need less distance to brake. Landing is therefore safer.
difference between numbers must always

be equal to 18, there are eighteen possible
combinations for designating a runway, WHY DO THEY FLY ONE WAY AND THE

i.e.01/19,02/20..18/36. NEXT TIME THE OTHER WAY?

The reason is most often due to wind.
The direction of a takeoff and landing
is determined by Air Traffic Control

WHY DO AIRPLANES TAKE OFF AGAINST THE WIND?
For an airplane to take off, it must reach the proper speed in relation to the air.
in order that an aircraft always takes off With our two types it is again around 200 km/h. Furthermore, the same thing

DID YOU KNOW..? Travelling in a car is and lands against the wind. applies where the air speed = speed in relation to a runway + the headwind.

dangerous when driving too fast, but in If a headwind is blowing, it is sufficient to pull off a runway with a speed

a plane it is dangerous when flying too slow? | minus the wind speed. The plane takes off at a shorter distance than with
In order to keep an aircraft in the air it needs “ o a wind from behind. The shorter the distance needed to take off with an

an upward lift force, which gives it its speed airplane, the safer itis to ta“ke off.
in relation to air flow. ~ .






